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2. The Salal Hydroelectric Project is on the
river

SECTION -A
i) General Awareness

1. Hypertension is the term used for 6. Three important rivers of the Indian
(A) Increase in Heart Rate subcontinent have their sources near
(B) Decrease in Heart Rate the Mansarovar Lake in the Great

(C) I . BI P Himalayas. These rivers arencrease In ood ressure
(D) Decrease in Blood Pressure (A) Brahmaputra, Sutlej and Yamuna

(B) Indus, Jhelum and Sutlej

(C) Jhelum, Sutlej and Yamuna
(D) Brahmaputra, Indus and Sutlej

(A) Chenab
(B) Jhelum 7. LASER is the abbreviation for

(C) Ravi (A) Light Acceleration by Stimulated

(D) Sutlej Emission of Radiation
(B) Light Amplification by Stimulated

3. is the capital of South Emission of Radiation
Korea. (C) Light Augmentation by Stimulated
(A) Pyongyang Emission of Radon
(B) Seoul (D) Light Arresting by Stimulated
(C) Panmunjom Emission of Radiation
(D) Macao

8. Which atomic power station is India's
4. Who among the following have won the first completely indigenous atomic

Nobel Prize twice? power station ?
(A) Marie Curie (A) Tarapur
(B) Robert Oppenheimer (B) Kalpakkam
(C) Ruskin Bond (C) Kaiga
(D) C. V. Raman (D) Kudankulam

5. Keeladi is the historical site of which 9. India became member of the United
state ? Nations in which year?
(A) Tamil Nadu (A) 1947
(B) Andhra Pradesh (B) 1950
(C) Odisha (C) 1949
(D) Kerala (D) 1945
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1. ~ {Cfd'€llq ~ ~ ~ 6. -qm;r rel1k111 ~ I1H~Hlq{ ~ ~ f.rct;c
~ iRrr~ I 3~Jll1qld) ~ 3ql1t\l41q cfiT 11t\(,q,{?f

(A) ~TTffi~~ ~cfRt ~~
(8) ~ TTffi-q C8ft (A) ~,~ 3fu ~
(C) {Cfd'€llq -q ~ (8) ~,~ 3fu *id~'5t

(0) {Cfd'€llq ~C8ft (C) ~,~ 3fu~
(0) ~,~ 3fu *id~'5t

7. LASER~~m~8R~

(A) ~~~"{~H~0R(Jl~"5~
31fq;"{~ Q!IH

(8) ~ Q;lOccl)fq:; Cfiw.1 ~ f2.11O~Jl ~ "5

~ 31fq;1:~Q!lH
(C) ~ 3'lTlq~~H ~ 0R(Jl~"5 lZM~H

31fq;~

(0) ~~~0R(Jlh~31Tq;
1:fuQ!lH
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2. ~ *.1Rl%d q\{41'5t'i I _
~i:R~1

(A) ~

(8) ~

(C) ucft
(0) ~

3. ___ m~citftm c€t ~ ~ I

(A) c41ll11iJI

(8) ~

(C) q I~\lj 111

(0) ~

4. RlO4R1fuld -q it ~ m ~ ~ 3Hocnl(

~?
(A) -mt~
(8) ~ 3'!lq4~11{

(C) ~Giis
(0) m.m. \tR

5. ch)C'iISl~ ~ qjl ~Rtt\lrnCfl ~ ~ ?
(A) dMC'i'iI'§

(8) ~
(C) 31lfun
(0) ~
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8. ~~~~m'@q;r~
~: ~WifUJ~mr.:r~?
(A) ~

(8) Cf)(>'qCfCflI1

(C) ~

(0) ~"5'i~C'i11

. 9. fctiB CfIf muf.~ (fiT ~ ~ ?

(A) 1947

(8) 1950

(C) 1949

(0) 1945
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10. Which wing of the Indian Armed Forces
has recently conducted an exercise
'Changthang Prahar' in East Ladhak ?
(A) Border Security Forces
(B) Indian Air Force
(C) Indian Army
(D) Indian Navy

11. Which Indian Prime Minister signed the
Tashkent Declaration with Pakistan?
(A) Indira Gandhi
(B) Lal Bahadur Shastri
(C) Jawaharlal Nehru
(D) Rajiv Gandhi

12. Who won the 2019 US open tennis
men's singles title?
(A) Novak Djokovic
(B) Rafael Nadal
(C) Daniil Medvedev
(D) Roger Federer

13. In which among the following cases,
the Supreme Court of India propounded
the theory of basic structure of the
Constitution ?
(A) Minerva Mills V. Union of India
(B) S. R. Bommai V. Union of India
(C) Keshavanand Bharti V. State of

Kerala
(D) I. R. Coelho V. State of Tamil Nadu

14. The highest mountain peak in south
India is

(A) Anamudi (8) Mukarta

(C) Doddabetta (D) Aravallis

-4-
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15. The theme of the 2019 edition of
International Day of Sign Language is
(A) Sign Language for Peace
(B) Sign Language: Rights for All
(C) Sign Language for the Specially

Abled
(D) None of the above

16. The southernmost point of peninsular
India, that is, Kanyakumari, is
(A) North of Tropic of Cancer
(B) South of Equator
(C) North of Equator
(D) South of Tropic of Capricorn

17. The anti-malarial drug Quinine is made
from a plant. The plant is
(A) Neem (B) Eucalyptus
(C) Cinnamon (D) Cinchona

18. Pusa Yashasvi is a new potential variety
of which crop?
(A) Cotton
(C) Coffee

(B) Wheat
(D) Rice

19. The pass located at the southern end of
the Nilgiri Hills in South India is called
(A) Balghat Pass
(B) Nathu La Pass
(C) Bolan Pass
(D) Palghat Pass

20. is the first Indian male
boxer to qualify for the finals of World
Boxing Championship.
(A) Shiv Thapa
(B) Akhil Kumar
(C) Amit Panghal
(0) Gaurav Bidhuri
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~~~infcR:1 ~ ~6R1tt.q~ 15. ~ddt{\<:! ~i<tiR1Cfl~ ~ in 201910.
31Rffi1 ';:ill dill >rmt '{Cff ~ .q fcfi<:rr t ? ~Wi{OI CfiT~ t
(A) mmw~~ (A) ~in~ ~i<tifdCfl~

(8) ~~~ (8) ~ic;R1Cfl~: ~CfiT ~

(C) ~~
(C) ~ in ~ ~ i<tifdCfl~

(0) ~~
(0) "3Cffi.q-a ~ ~

16. $I1<:!lfjcfi<:!~CfiT~~~~ Cfl'"<:!I~lOIlfl
11. fcfiB ~ ~ ~ 111fChfdHin ~ t,Cfflt

dl~lch~~'Rm:m~~ ? (A) 'Cflcfi Wr CfiT~

(A) ~TJTm (8) ~WrCfiT~~

(8) ~~mrn (C) ~<:fWrCfiT~

(C) '5IClIt5{~k1~ (0) l:fCRWr CfiT~~

(0) ~TJTm 17. 1OI~f{<:!1um ~ ~ ~ fm -a ~
~tICffl.qtmt

12. ~ 2019 ~ ~~CfiT~~ (A) ~ (8) ~kj\<~
~~? (C) ~ld4);ft (0) mChl"'l1
(A) ~ '"11ch1~Cfl

'iBT~fcR1 'Rm ~~~fcfm t ?
(8) ~~

18.
(A) Cfi1Wf (8) ~

(C) ~ q~~~CI
(C) ~ (0) ~

(0) ~~

19. ~~ m«r.q ;ft~fTlti ~ qt5lrn?:l1in ~~
13. Rk1R1fuld.q-a~~.q, ~in~ ~'Rii'mrGU Cflt5~Idl t I

'"<:!I<:!I~<:!~~~~~~inf2r:n:r (A) <SI1~tllc:GU
CfiT$IR1qI~"'lfcf;m ? (8) ~"ffiGU
(A) ftRqf fiJR1 ~ m«r ~ (C) ~GU

(8) ~.31R.~~m«r~ (0) ql~tllc: GU

(C) <ti~IClI~~mmt~~~
~ tictCh<Sll'Jft~in q:;1~'"l~

(0) ~. 31R. ~GRT11dfli~"'lI§~
20.

~ q§:qI~ClI~ ~ ~~ tictCh<Sll'51~I

~a:fUT 1ffi(f Cfi13Ti.l d10I~ fmsR t (A) fuq~
14. (8) 31fuffi ~

(A) ~ (8) ~ (C) 31firn~

(C) Cil~~gl (0) 3HICI"rl~", (0) ~~
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ii) General Intelligence and Reasoning Ability

21. A girl leaves from her home. She first
walks 30 mts. in North-West direction
and then 30 mts. in South-West direction.
Next, she walks 30 mts. in South-East
direction. Finally, she turns towards her
house. In which direction is she moving?

(A) North-East

(B) North-West

(C) South-West

(0) South-East

22. A villager went to meet his uncle in
another village situated 5 km away
in the North-East direction of his own
village. From there he came to meet his
father-in-law living in a village situated
4 km in the South of his uncle's village.
How far away and in what direction is
he now?

(A) 3 km in the North

(B) 3 km in the East

(C) 4 km in the East

(0) 4 km in the West

23. Statements: All students are boys.
No boy is dull.

Conclusions I: There are no girls in
the class.

II : No student is dull.

If. the given statements are true then
which of the above conclusions definitely
follows?

(A) Only I

(B) Only II

(C) Either I or II

(0) Both I and II
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24. Statements: No man is a lion.
Ram is a man.

Conclusions I: Ram is not a lion.
II: All men are not Ram.

If the given statements are true then
which of the above conclusions definitely
follows?

(A) Only I

(B) Only II

(C) Both I and II

(0) Neither I nor II

25. Choose the correct alternative that will
continue the same pattern and replace
the question mark in the series.
2, 3, 5, 7, 11, ? , 17
(A) 12 (B) 13

(C) 14 (0) 15

26. MATHEMATICS is related to
NUMEROLOGY in the same way as
ASTRONOMY is related to

(A) SCIENCE

(8) ASTROLOGY

(C) PHILOSOPHY

(0) PLANETS

27. Select the answer from the choices
given below to continue the series.
DILQTYBG?

(A) H

(8) I
(C) 0
(D) J
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21. ~ ~ 31iRt:RB RCflE1d) ~ I~ Cffl I 24. CJ;P.r.;
30 ~ '3m:-~ fun ~ ~ ~ 3fn:
f~i{"Gf~ -~ fun ~ 30 ~ 'qffift ~ I
m, Cffl~~-~~~ 30~'qffift
~ I 3lmr: Cffl ~ tR cfiT31R~ ~ I Cffl
~~~~m~?
(A) ~-~
(B) ~-~

(C) ~~-~

(0) ~~-~

22. ~"!lTlftuT ~"lliq ~ ~ ~ B ~
e-,

\lfRITt, ~~ ~"lliqB~-~fun I 25
~5M~~ Ic@B%~~t:R* .e-,

~~~ 4 McfiT~1R~ 31iR~*
"lliq~ ~ ~ \lfRIT~ ICffl~ ~ 3fn:e-,

~fun~~?
(A) ~~3M
(B) ~~3M
(C) ~~4M
(0) ~~4M

23. CJ;P.r.; : ~ fcrmm~ ~ I

:~~~~~I
~ I : CfiPdT~~~~~ I

II : ~fcrmm~~~ I I 27.

1111 IIIIUIII III 11111 111111111111 111I11 1111 111111111111111 11I11111111 11111111111111111111111111

~ ropn:; Cfi~r-n1~ tm '3Cffl RG:flttl ~ B
~-m R~d ~B ~cnurr~?
(A) ~I

(B) ~ II

(C) mm 1m II

(0) I~II~
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: ~~iR~~1

Ul1~~~1

~ I : Ul1~iR~~ I

II : ~ OlIfCffi~i Ul1~ ~ I

~ fu; '11; Cfi~.r-n:r~t,m '3Cffl R G:fl~T~ B
~-m R~d ~B ~"CROT~?

(A) ~I
(8) ~ II
(C) I 3fn: II ~

(0) ';f I ';f 1ft II

~~~~~~cit~w
3fn: ~~w.=r~cit~~ I

2, 3, 5, 7, 11, ? , 17

(A) 12 (B) 13

(C) 14 (0) 15

26. "l"fiUrn3'iCf)~II'01B~ >ICfiR ~~, ftrn
"5I'CflR@lj)E1~lIf51 B ~~I

(A) ~

(8) \i41RI':jRl~H

(C) G~T"i~II'0I

(0) !T6

~ cit ~ 00 * fffi; ~ fu; '11;
RlCfle:ii ~ B~ ~ ~I

OILQTYBG?

(A) H

(8) I

(C) 0

(0) J
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28. In the following sequence some letters
are missing which are given in that order
as one of the four alternatives. Find the
correct alternative.
a _ aba _ ca _ aac _ ba
(A) caba
(8) acac
(C) abab
(D) abca

29. Choose an appropriate number to
replace the question mark from the
given alternative.
48,24,72,36,108, ?
(A) 110
(8) 115
(C) 121
(D) 54

30. Find the missing number in the figure.

5 2 4
4 4 7
2 5 3
18 30 ?

(A) 42 (8) 43
(C) 32 (D) 33

31. If LODES is coded as 4 6 3 2 1, how will
you code the word DOES?

(A) 4631

(8) 3621

(C) 3261

(D) 3162

·8·
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32. In a certain coding system, 8 1 6 3 2 1
means 'The brown dog frightened the
cat', 64 8 5 1 means 'The frightened cat
ran away', 7 6 2 1 means 'The cat was
brown', 341 means 'The dog ran'.
What is the code for 'The dog was
frightened' ?

(A) 8263

(8) 8731

(C) 5438

(D) None of these

33. i. P + Q means P is brother of Q.

ii. P - Q means Q is father of P.
iii. P x Q means Q is mother of P.

iv. P + Q means P is sister of Q.

Which of the following means M is
maternal uncle of R ?

(A) RxN+M

(8) M+NxR

(C) M+NxT+R

(D) Can not be determined

34. Rama ranks 16th from the top and
15th from the bottom in a certain
examination. How many students are
there in the class?

(A) 30

(8) 31

(C) 32

(D) 33
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28. RJ:1R-if@d ~ -ij~ 31~ ~ t it ~
~ -ij~ ~ ~ it ~ ~Cfl0ii -ij~ ~ -ij
%I@ ~q;(Yq ~I
a _ aba _ ca _ aac _ ba

(A) caba

(8) acac

(C) abab

(D) abca

29. ~~~-ij~~~cta~~
~~3q~CR1~~1

48,24,72,36,108, ?

(A) 110

(8) 115

(C) 121

(D) 54

5 2 4
4 4 7
2 5 3
18 30 ?

(A) 42 (8) 43

(C) 32 (D) 33

31. ~ LODES CfiT~ 4 6 3 2 1t m 31ll=r
~DOES cta~~~?

(A) 4631

(8) 362 1

(C) 3261

(D) 3 1 62

-9-
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32. ~~~-ij, 81 6321 CfiT31~% The
brown dog frightened the cat', 6 4 8 5 1
CfiT31~ % 'The frightened cat ran away',
7 6 2 1 CfiT31~ % The cat was brown',
3 4 1 CfiT~ % The dog ran'.
The dog was frightened' ~ ~ ~ ~m.n ?

(A) 8263

(8) 873 1

(C) 5438

(D) ~~~~

33. i. P + Q CfiT31~ % 'P"Q' CfiTm{ %1

ii. P - Q CfiT~ % 'Q' 'P' CfiTfrnT %1

iii. P x QCfiT ~% 'Q' 'P'ctT11RfT%1

iv. P.;. QCfiT ~% 'P"Q'ctT~%1

R J:1f~f{g d if ~ fcf;~ 31~ M, R q)f

1WIT~ ?
(A) R x N.;. M

(8) M + N x R
(C) M.;. N x T + R

(D) Frmftf~~~~

34. "{llT CfiT~ 'f{te,:rr -ij ~ ~ 16 err ~ %

3fu: ~ ~ 15 err ~~ % I ctie,:rrif ~
fcrolm~?
(A) 30

(8) 31

(C) 32

(D) 33
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35. Binny and Chinky teach different 38. Six members of a family namely
subjects in a class. Binny teaches in the A, B, C, 0, E and F are travelling
morning and the noon on the alternate together. B is the son of C but C is not
day starting from Monday. Chinky the mother of B. A and C are married
teaches in morning on Tuesday and couple, E is the brother of C. 0 is the

Thursday and in the noon on Saturday daughter of A. F is the brother of B.
How many male members are there inand Sunday. If a particular month of the family?

30 days starts on Wednesday then (A) 3
Binny and Chinky would meet each

(B) 2other on how many days?
(C) 4

(A) 7
(0) 1

(B) 10

(C) 9 39. P, Q, R, S, T, U, V and Ware sitting
(0) None of these in a row facing North. P is 4th to the

right of T. W is fourth to the left of S.
Rand U which are not at the ends are

36. If > stands for division, v stands for neighbours of Q and T respectively.
multiplications, < stands for addition, W is next to the left of P and P is the
/\ stands for subtraction, - stands for neighbour of Q, who are sitting at the
greater than, x stands for less than, extreme ends?
+ stands for equal to then, which of the (A) P,S
following statement is true? (B) S, T
(A) 12 > 6 /\ 3 < 2 < 8 - 20 (C) S,R

(B) 12 /\ 6 < 3 > 2 x 8 x 20 (0) T,U

(C) 12 > 6 x 3 < 2 /\ 8 + 20
(0) 12 x 6 > 3 /\ 2 < 8 + 20 40. Four ladies A, B, C and 0 and four

gentlemen E, F, G and H are sitting in a
circle around a table facing each other.

37. Pointing to the woman in the picture, No two ladies or gentlemen are sitting
Rajiv said, "her mother has only one side by side. C who is sitting between
grandchild whose mother is my wife". G and E isfacing O.F is between D and A

How is the woman in the picture related and facing G. H is to the right of 8.

to Rajiv? Who is sitting left of A ?

(A) Cousin (A) E

(B) Wife (8) F

(C) Sister (C) G

(D) Data inadequate (0) H

-10-
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35. ~ 3fR:~~~~~-fmf~~ 38. ~~~~:~A,B,C,O,E~F
%1~if~~~R.:r~~~ ~m~pmrrCR\%%1 B, CCfiT~t, ~

~ 3fR:~~~~~I~~llf1qR C, B~l1ffiT-;@~1 A 3fR:C ~ql!%<"1~%I

cffi~ 3fR:wm cffi~ wn ~ 3fR: E, CCfiT~~1 0, A~~%I F, BCfiT~
~I~~~~~%?

OORcffi~~~~1 ~~ 30 ~CfiT
(A) 3

~~cffi~mm~, m~3fR:~
(B) 2

~-~if~~~?
(C) 4

(A) 7 (0) 1

(B) 10

(C) 9 39. P, Q, R, S, T, U, v~w~~3iR~

(0) ~ifcnW~
m~rITcffi"ij~%1 P, T~~~%I
w,S~~~m%IR~U~~~
1:f\~%Sfilm: Q~T~~%I W, P

36. ~>~~,v~~,<~~, ~~ 31lTffi% ~ P, QCfiT~%1 ~

A tRT ~, - if ~ ~, X if me:,- ~, fGl~f1 ~"ij~~

+ ~ %~ 3mIT%, iT RJ"'1k1f@<"I"ij ~ (A) P, S

crft;r- m 'q)2H ~ %? (B) s. T

(A) 12 > 6 A 3 < 2 < 8 - 20
(C) s, R
(D) T, U

(B) 12 A 6 < 3 > 2 X 8 X 20

(C) 12 > 6 X 3 < 2 A 8 + 20 40. "-qRqf%f1I~ A, B, C ~ D ~"-qR ~

(0) 12 X 6 > 3 A 2 < 8 + 20 E, F, G ~ H~~~ 3iR~m~
~~~3iR~~~~ IcnWmm~

37. ~m"ij~~~3iR~~~ 7:ITmqf%f1I~~~~~~ I C~fcfiG

00q ~cnm, '~llTffi CfiTm~ iffirr ~E~~~%~~o~3iR% I

% ~flch'lllTffi ~ ~ %1"M~qlcll ~
F, 0 3fR A ~~~% 3fR G efiT 3fu:~

00q if ~ >rCfiR~ %?
% I H, B~~~ I A~~crft;r~%?

(A) ~~
(A) E

(B) ~
(B) F

(C) ~ (C) G

(O)~~ (0) H

-11-
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iii) Arithmetical and Numerical Ability

41. In a right angled triangle PQR with right 47. The cost price of an article which is sold
angle at 0, if PO = 5, PR + RQ = 25 then for Rs. 224 at a profit of 12% is
PR = (A) RS.210
(A) 12 (8) 13 (8) Rs. 200
(C) 14 (0) None of these (C) Rs. 248

(0) None of these
42. Ifarea of a circle is twice the perimeter of

the same circle then radius of the circle 48. Rs. 600 is divided among A and 8 in
is the ratio 2 : 3, the amount received by
(A) 4 8 is

(8) 2 (A) RS.240

J2 (8) RS.300
(C) (C) Rs.360
(0) None of these (0) None of these

43. The volume of a cube of side length 49. What percent is 20 paise of Re. 1 ?
3 units is

(A) 5%
(A) 9 sq. units (8) 40%
(8) 27 cubic units (C) 20%
(C) 18 cubic units (0) None of these
(0) None of these

50. If 2 numbers are in the ratio 7 : 5 and
44. The arithmetic mean of first 15 natural their difference is 12, then the numbers

numbers is are

(A) 16 (8) 9 (A) 42,30
(8) 52,40

(C) 8 (0) None of these (C) 22,10
(0) None of these

45. (sec A + tan A) (1 - sin A) =
(A) sin A (8) sec A 51. Which among the following is an
(C) cas A (0) cosec A irrational number?

(A)
22

(8) J3- -
46. Sin (900

- A) = 7 2

(A) cosec A (8) sin A (C) J2
(0) 0J2(C) tan A (0) cas A

-12-
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iii) 3iq:;~lfOlffi~~ «@kqq:; ~

41. ~ ~lOIcf})UIft"~ PQR it ~lOIChlulQ 'R t 47. 224~. it 12% ~ 'R iRft \jj1~qlcl1 ~

~ PO = 5, PR + RQ = 25m PR = Cf)T~~t

(A) 12 (8) 13 (A) ~. 21 0

(C) 14 (0) ~B~~ (8) ~. 200

(C) ~. 248

(0) ~B~~42. ~~¥Cf)T~~¥cttmfuCf)T
~t m<f1ctt~~

(A) 4
(8) 2

(C) J2
(0) ~B~~

43. ~ 3 ~CflI~cm'1~ t:r.1 ctr 3W«'R t
(A) 9crf~

(8) 27 t:r.1 ~

(C) 18 t:r.1 ~

(0) ~B~~

44. >f2ll1 15 SIICfmCh ~3TI Cf)T34CflllfOldlli

llT'E<1t
(A) 16

(C) 8

(8) 9

(0) ~B~~

45. (see A + tan A) (1 - sin A) =
(A) sin A (8) sec A
(C) cos A (0) cosec A

46. Sin (900
- A) =

(A) cosec A (8) sin A

(C) tan A (0) cos A

-13-

48. ~. 600, A 3fu: 8 iti~ 2: 3 iti ~if
~~t 8-mr~ufut

(A) ~. 240

(8) ~. 300

(C) ~. 360

(0) ~B~~

49. 20 ~ 1~ Cf)T~ $Im!tld t ?
(A) 5%

(8) 40%

(C) 20%

(0) ~B~~

50. ~it~7:5iti~itt3fu:~
~12tm~t

(A) 42,30

(8) 52,40

(C) 22,10
(0) ~B~~

51. RJ;jk1f@ctifB~~~~t?
22 ~

(A) - (8) -
7 2

J2
(C) J2 (0) 0
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52. If 13 is the HCF of 2 numbers whose 56. The value of k if k, k + 5, 5k are in
product is 1690, then their LCM is A. P. is
(A) 13

(A) 1
(8) 1300

%(C) 1690 (8)

(0) 130 (C) %
(0) 3

53. The least number among

(23r, 2(3
2

), 2(2
3

), (32r is
57. Which term of the sequence 5, 14, 23, ....

(23)2 is 221 ?
(A)

(A) 11

(8) 2(32) (8) 21
(C) 25

(C) (3
2r (0) None of these

(0) None of these

58. A quadratic equation whose roots are

(81f' -2 and 2 is
54. Value of 64 is (A) x2 + 4 = 0

(8) x2 - 2x - 2 = 0
(A)

512 (C) x2 - 4 = 0-
729

(0) x2 + 2x - 2 = 0
(8)

729-
512

9 59. If x = .J2 + 1 then x + .!. =(C) - x8 (A) 2

(0)
8 (8) 2.J2-
9 (C) .J2

55. The sum of first 10 terms of the (0) None of these
sequence 1,4,7, ... is

(A) 150 60. If Rs. 800 yields Rs. 96 as simple

(8) 149 interest in 2 years, then the rate of
simple interest is (in %)

(C) 145
(A) 5% (8) 7%

(0) None of these (C) 4.5% (0) 6%
-14-
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52. ~ 13,2~mCfiPro"Cf~~~OHCP<1 56. ~ k, k + 5, 5k wffiR ~ -q t err k CfiT
1690terr~~~ lffi~
(A) 13 (A) 1
(8) 1300

(8) %
(C) 1690

(0) 130 (C) %
(0) 3

53. (23t,2(32), 2(2
3
), (32t if~mtt

~~
57. ~ 5,14,23, ....CfiT~~ 221 ~ ?

(A) 11
(A) (23r (8) 21

(8) 2(3
2

) (C) 25

(0) ~-a~~
(C) (32r
(0) ~-a~~ 58. ~ ~ ~tflCfl{OI~ ~ -2 3fu 2 ~,

Cf6~

(:t'fiTllRi (A) x2 + 4 = 0
54. (8) x2 - 2x - 2 = 0

512
(C) x2 - 4 = 0

(A) - (0) x2 + 2x - 2 = 0729

(8)
729 59. ~ x=J2+1err x+..:!.=-
512 (A) 2

x

(C)
9 (8) 2J2-
8

(C) J2
(0) 8 (0) ~-a~~-

9

55. ~ 1, 4,7, ... ~~ 10WCfiT~~ 60. ~~. 800 -a2 qtTI if ~ ~ 'R

(A) 150 ~. 96 ~~, err m'qRUf ~ c€T ~
(% if) ~

(8) 149

(C) 145 (A) 5% (8) 7%

(0) ~-a~~ (C) 4.5% (0) 6%

-15-
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iv) Hindi Language and Comprehension
~~3ffimu

61. RYR1f@C1-ij-B~~(ffi111~t ? 66. ~~~tl
(A) ~ (A) Cfl4C11"Ol1

(8) ern (8 ) 3'l Cfl4C11 "OlI

(C) ~ (C) Cfl qClI "OlI

(0) ~
(0) 'l11C1C1I"Ol1

67. ~~~ml
62. 'CfR"{' Cfi1~ ~ t (A) fi 114lr:l1 ~

(A) ~ (8) ~~

(8) ~ (C)~~

(C) ~ (O)~~

(0) ~ 68. ~mm~~1
(A) ~&<:rr

RY R1f@C1-ij-Bcnt.mr~ ~ -ijm (8) ~&<:rr63.

~~? (C) ~&<:rr

(A) m'4t (0) ~~

(8) ~ ~ ~ 3fu:~ c€tGE' Cfl61C1d Cfi1~ t69.
(C) ~ (A) ~ c€tGE Cfi1~ "6f.:rr
(0) w.:ft (8) 31'H CfiT~ ~ Fcffi41 -ijfiH;n

(C) ~~-B~'fRc€t~
'f%14IC1t1' ~ Cfi1~ - ~ t (0) ~-B~~64.

(A) ~+~ 70. ~ ~ ~fcR:ft~ 31clfu(lqi~m
(8) ~+~ (A) ~
(C) mm+~ (8) :m.~
(0) ~+~ (C) 31"Cffu

(0) ~.

65. ~,~ Cfi1"Bfu ~ t 71. ~+~=W{flf
(A) 'Bl{ + mrr (A) ~~
(8) "@1+ mrr (8) ~~
(C) ~ + mrr (C) ~"Bfu
(0) ~ + mrr (0) "MBfu

-16-
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72. f.:r: + >rfUT 76. "furn ~ ~ IDU ~ <n ~ Clif.t Cf)T
(A) f.:rmuT ~it,~ ~~I
(8) ~ (A) -mT'Cl Cfi"RCfi
(C) RO\?$I101 (8) ctmf CfiWfi
(0) -;fitmur

(C) ~ Cfi"RCfi

(0) ~ Cfi"RCfi
73. ~ Cfiitit, ~ CflM ctI -mwft I

(A) 3'I1~ IClI'i:4Cfi
~Cf)T ~(1lql~~t

(8) ~~t\Cl I'i:4Cfi
77.

(A) ~(C) ~flOIllCl I'i:4Cfi
(0) ~ChctClI'i:4Cfi (8) mtt

(C) ~
•

74. fiK1R~: (0) ~

en. 3'I1Q4ldl I.. ~~
m. ~~ICllm II.~~ 78. ~~~, Cf)TqllTllCllift t ?
'T . *'0 It!)Cfct III. B>RR~

(A) ~
t:r . ~ ('lll !lt\ IV.~~ (8) Gf[Ufen ~ II -q

(C) ~(A) II I IV III
(8) II IV I III (0) com
(C) II III IV I
(0) I IV III II 79. ~CfiT~~t

(A) ~

75. fiK1R~: (8) $I1'frnCfi
en. 'tffian I. lJUTBfu (C) ~
m. ~ II. ~Bfu (0) ~
'T. qg1G14 III. ~Bfu
t:r. ~ IV. ~Bfu

80. ~ 31tRT ?gUT ~ Rm it
en ~ II -q

(A) >f*IUT
(A) I III IV II

(8) ~
(8) III II I IV

(C) ~(C) IV III I II
(D) ~~cnW~(0) IV I II III

-17-
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v) English Language and Comprehension
~ 'qffff 3fu mu

Fill in the blanks with suitable conjunctions from I Fill in the blanks in the following sentences
among the choices given below them. with the appropriate prepositions from among

the choices given below them.

81. He not only passed won a
scholarship.
(A) yet (8) stili
(C) but also (D) and also

82. He had hardly reached the station
___ it began to rain.
(A) then (8) than
(C) when (D) by the time

Fill in the blank using the correct tense form
of the verbs from among the choices given
below them.

83. Students Shakespeare for
the last one month.
(A) studying
(8) has been studying
(C) have been studying
(D) has studied

Add suitable question tags to the following
statements from among the choices given
below them.

84. Sammathi dived into the stream
fearlessly, ?
(A) was she (8) has she
(C) didn't she (D) did she

85. Casper doesn't like a bath, ?
(A) does he (8) doesn't he
(C)is he (D) isn't he

-18-

86. The property should be divided
___ the two sisters.
(A) across
(8) among
(C) besides
(D) between

87. Can you translate this _
English.
(A) at
(C) with

(8) into
(D) across

88. We met Sundays.
(A) at
(8) beside
(C) on
(D) by

Direction for questions 89 and 90 : Which
of the phrases given below should replace
the underlined phrase given in the following
sentences to make it meaningful and
grammatically correct?

89. He will never get through as neither is
he intelligent or hardworking.
(A) he neither is intelligent nor

hardworking
(8) he is neither intelligent nor

hardworking
(C) neither he is intelligent nor

hardworking
(D) he is neither intelligent or

hardworking



Fill in the blanks with the appropriate antonyms
91. You have to cross Persian of the words underlined from among the

---- choices given below them.
Gulf to go to Dubai.
(A) a
(8) the
(C) an
(D) no article required

111111111111111111111111111111111111111 1111111111111111111111111111111111111111111111111111111

90. Privatization has come not just at the
expense of consumers as well as at the
expense of workers.
(A) but at the expense of workers even
(8) as well as at the expenseof workers
(C) but at the expenseof workersas well
(D) even at the expense of workers as

well

Fill in the blanks in the following sentences
using the appropriate articles from among the
choices given below them.

92. Robinson is European.
(A) an
(8) from
(C) a
(D) no article required

MKG-XXVIfTECHCIAAl1 T/02

Each of these questions presents a word
that may have been spelt incorrectly. From
the choices provided, pick the rightly spelt
word and mark the letter of that word as the
answer.

95. Encoverage
(A) encourage (8) encorrage
(C) encoveraj (D) encourige

96. Adekwate
(A) adekwat (8) adecuate
(C) adequate (D) adiquate

97. The and the old should
live together to have a better perspective
of life.
(A) elder
(C) junior

(8) older
(D) young

98. Do you feel comfortable or in
your new pair of shoes?
(A) discomfortable
(8) uncomfortable
(C) imcomfortable
(D) ill-comfortable

Choose the correct synonym of the underlined
Fill in the blanks with the appropriate form of in each sentence from the alternatives given
the verbs from among the choices given below below it.
them.

99. A dozen gentlemen were engaged in a
93. Each one of them given a warm dispute.

prize yesterday. (A) speech (8) conversation
(A) was (8) be (C) argument (D) discussion

(C) are (D) were 100. One of the gentlemen thought he

Slow and steady
possessed all the merit of the English

94. the race. nation.
(A) win (8) will win (A) capacity (8) wealth
(C) wins (D) had won (C) worthiness (D) skill

-19-
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SECTION-B

Post Specific Subject-Related Questions

101. Which of the following does not form the
part of Reinforced Cement Concrete?
(A) Steel (B) Aggregates
(C) Cement (0) Lime

102. The brick courses in English bond
consists of
(A) Alternate courses of stretchers and

headers
(B) All courses have stretchers only
(C) All courses have headers only
(0) No stretcher and header

103. The variety of glass which is heat
resistant
(A) Flint glass (B) Sheet glass
(C) Bottle glass (0) Pyrax glass

104. Identify the image.
STANCHION TOPTYRE

(A) Raft footing
(B) Pile foundation
(C) Steel grillage foundation
(0) Eccentric footing

-20-

105. In buildings linoleum is generally used for
(A) Roofing
(B) Flooring
(C) Ceiling
(0) Walls

106. Example for igneous rock
(A) Granite (B) Murum
(C) Laterite (0) Limestone

107. The materialwhich give clear metallic ringing
sound when struck with each other
(A) Brick (B) Gypsum
(C) Laterite (0) Cement block

108. Identify the image.
x BEAM

. ••• x..'
RINGS

~ '" ieucKET
•... 1LENGTH

-<iolo-
I-- 014--1

-0101<-
Ie- 014-0/

(A) Pile foundation
(B) Isolated footing
(C) Combined footing
(0) Continuous footing
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101.

102.

103.

104. fu;r qt5:qIR~ I

",m~~H1-----.zr- ~'...,",",_
..L' .•.. .;.. -'!:.: : ... ·6.· . "...•.. ' • 6.'1

SPACER BAR SECTION AT XX

(A) ~ 31Tm\
(8) ~-;ffq
(C) ~~-;ffq
(D) ~31Tm\

-21-
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X BEAM

:~;,.: .
- ';' X

'.'
RINGS

~pl---
I-- o u --oj

(A) ~-;ffq
(8) ~ 31Tm\
(C) ~31Tm\
(D) f.:mR 3Wm

~" feucKET
•... llENGtH

-o/pj...
t-- o ••--l
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109. Size of Mangalore tiles used for 113. The sand passing through a screen with
roofing clear openings of 1.5875 mm is known as

(A) 210 mm x 320 mm (A) Coarse sand

(8) 500 mm x 600 mm (8) Gravel sand

(C) 100 mm x 700 mm (C) Fine sand

(0) 400 mm x 700 mm (0) Basalt

110. Final setting time for ordinary cement 114. Cement Mortar is the mixture of

(A) 20 hrs. (A) Cement and sand

(B) 1 hr.
(B) Cement and lime

(C) 10 hrs.
(C) Cement and gypsum

(0) (0) Cement and stone
40 hrs.

115. Proportion of concrete mix used in M 15
111. Which is not a cement grade? grade concrete

(A) 23 grade (A) 1 : 4: 8
(B) 43 grade (B) 1 : 2: 4

(C) 53 grade (C) 1 : 5 : 10

(0) 33 grade (0) 2:3:6

112. Identify the image. 116. Identify the image.

(A) Queen closer

(8) King closer

(C) Bevelled closer

(0) Half bat

(A) Bevelled closer

(8) Three quarter bat

(C) Half bat

(0) Mitred closer

-22-
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109. ml~~~~~G$ITCfiT 113. 1.5875-m.lTI. cfiT~ ~~~"W1
3TICfiR~ ~~~1:fR~qmrtr

C!'l6Mldl ~ I(A) 210 mm x 320 mm
(A) ~tr(8) 500 mm x 600 mm
(8) ~tr

(C) 100 mm x 700 mm
(C) ~tr

(D) 400 mm x 700 mm
(D) ~

~ 141~ mite: CfiT~ ~{lCfl(OI 'B11lf ~ mifcl1T& CfiT-m~ ~ I110. 114.
(A) 20 tR; (A) mite: 3fu:tr
(8) 1 tR:T (8) mite: 3fu:~
(C) 10tR; (C) mite: 3fu:~
(D) 40 tR; (D) mite: 3fu: l1<'~

~-m~mm~;®~? 115. M15 ~ ~ -ij ~ ~ -m.lW1TCfiT
111.

~~
(A) 23~ (A) 1: 4 : 8
(8) 43~ (8) 1: 2 : 4
(C) 53~ (C) 1: 5 : 10

(D) 33~ (D) 2: 3 : 6

m q6"1:lIRq: Im q6"1:lIRq: I 116.112.

(A) CF:fR~

(8) fcm~
(C) SlqfOld ~

(D) ~~

(A) >rcffUrn~

(8) ~~~

(C) mf~
(D) l1T$~

-23-
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117. Slump test is conducted for measuring 121. Ooor frame is made up of two vertical
(A) Concrete members known as

(A) Head
(B) Steel

(B) Holdfast
(C) Lime (C) Posts
(0) Glass (0) Hinge

118. Example for deep foundation 122. For thin sections water cement ratio by
weight should be

(A) Isolated footing
(A) 1.8

(B) Combined footing (B) 2
(C) Grillage foundation (C) 0.55

(0) Pile foundation (0) 4

123. Vibrators are used for
119. Commonly adopted internal door width

(A) Compaction of concrete
for residential buildings

(B) Curing of concrete
(A) 900mm (C) Transportation of concrete
(B) 100 mm (0) Batching of materials

(C) 200mm
124. Identify the image.

(0) 500mm

120. Identify weathering part in the given

image.

(A) Flagging stone
(A) Lintel

(B) Coping stone (B) Chajja
(C) Pendentive (C) Sunshade
(D) Composite masonry (0) Buttress

-24-
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117. ~<ro~ ~%g~~tl 121. ~~~m~~'B~irnT
(A) ~ t~ ~~I

(A) ~(8) ~

(C) ~
(8) i)cr'5CflI'R

(C) ~
(0) Cfifq

(0) ~

118. ~;ffq~ 3GI~{OI t 122. ~ <9Uit if>~ ~ m-m ~ m{ ifi

(A) "1~ 31T'm{
mU;Pd ~~I
(A) 1.8

(8) ~ 31T'm{ (8) 2
(C) ~-;ffq (C) 0.55
(0) ~;ffq (0) 4

123. ~~m ·~~~tl
3'llql«1l1 ~~ ~~CfTffi fll14l;::;q119. (A) ~rfu~
~~rfu~t, (8) ~if>.
(A) 900 mm (C) ~ if>qf(q~'"l
(8) 100 mm (0) ~mifi~
(C) 200 mm m q~'i:lIRq: I124.
(0) 500 mm

fuQ:~ m -q 'CfRT RCfifl4 ifi ~ ~ cir120.

q~:~!lR~ I

(A) ~"RH
(8) CfiTWr~

(C) 'i:llq i(l{ •

(0) ~W'~ti20 {1'51fTl£l

(A) ~

(8) ~
(C) 01111GRW16

(0) ~
-25-
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125. Which cement is preferred to lay 129. Tetrahedron solid has
concrete under static water or running
water?
(A) Acid-resistant cement
(B) Blast furnace cement
(C) Coloured cement
(D) Quick setting cement

126. Commonly used flooring for Dance halls
(A) Vitrified flooring
(B) Granite flooring
(C) Timber flooring
(D) Stone flooring

127. A space permanently open to the sky,
enclosed fully or partially by building
and may be at ground level or any other
level within or adjacent to a building is
known as
(A) Courtyard
(B) Slab
(C) Plinth
(D) Mumty

128. Identify the type of joint provided in the
given image.

(A) Lap joint

(B) Butt joint

(C) Tongue and Groove joint

(D) Rebated joint
-26-

(A) 4 triangular surfaces

(B) 8 plane surfaces

(C) 6 square surfaces

(D) 10 plane surfaces

130. The solid which has 12 pentagonal
plane surfaces called as

(A) Tetrahedron

(B) Cube

(C) Pentagonal pyramid

(D) Dodecahedron

131. Which is the fire extinguishing system
commonly adopted in building?
(A) Gully trap

(B) Fire hydrant

(C) Fire trap

(D) Fire wheel

132. Identify the image.

ELEVATION SECTIO~

(A) Uncoursed rubble masonry

(B) Ashlar masonry

(C) Coursed rubble masonry

(D) Dry masonry
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125. ~~<.IT~~~~~~~
~ ~-m Bmc:q;)~ <ft \1fRft t ?
(A)~~

(8) OO~~
(C) -{lft;:r ~

(0) ~ff~mCfTffi~

126. ~~~~~~141r<1~t

(A) ~~

(8) ~q:;r~

(C) ~q:;r~

(0) ~q:;r~

127. 31fCfimcfiT3W~~~C:fK1T, ~~
~31R=R<.IT~~mmm~«R<.IT
fcfim ~«RlR~m~: <.IT~
~it~~ Cfl~(1ldl t I
(A) 31TrR

(8) ~

(C) ~

(0) wit

(A) ~~

(8) ~~

(C) ~ 3fu: TRf ~

(0) ffi«rr ~
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129. 'CltJ)t5ChluO\Qimif __ M I
(A) 4 GtChIUn\Q ~

(8) 8~~
(C) 6crf~

(0) 10~~

130. ~ilB"fumif 12 cj'Clchlu~\QWRK1~mt

(A) 'CltJ)t5Chlul

(8) tR
(C) ci'ClChIUn\Q fCl(lf~n;

(0) g:IG~ICflC1Cfl

131. ~if ~141r<1(1: ~~cm1T
31rq~1I4Cfl ~-m t ?
(A) ~U;CflI mT
(8) 31iT.l~

(C) 31iT.lmT

(0) 31iT.l~

132. m q~'ClIRq: I

ELEVATION SECTION

(A) Sh4<fud ~ <1\i1fTl(1

(8) ~ <1\i1fIi(1

(C) ShiOlflf'€;d ~ <1\i1fTl{l

(0) ~ <1\i1fTl(1
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133. In brickwork, each course consists 137. The clear vertical distance between the
of alternate Headers and Stretchers

tread of a step and the soffit of the flightcalled as
(A) English bond or the ceiling of the landing immediately
(B) Flemish bond over it is known as
(C) Raking bond

(A) Spandrel(0) Zigzag bond

(B) Winders
134. Masonry wall is constructed from two or

more building materials are termed as (C) Stringers

(A) Composite masonry (0) Head room
(B) Laterite masonry
(C) Brick masonry
(0) Granite masonry 138. The acute angle or gutter formed by the

intersection of two slopes in a pitched
135. Horizontal upper part of a step on

roof is called aswhich foot is placed in ascending or
descending stairway is called as (A) Eaves
(A) Tread
(B) Handrail (B) Batten

(C) Baluster (C) Rafter
(0) Riser

(0) Valley

136. Identify the image.

139. Timber pieces, which are provided

over the top of a stone or brick wall for

the purposes of fixing the feet of the

common rafters are known as

(A) Random Rubble Masonry
(B) Ashlar Chamfered Masonry
(C) Ashlar Fine Masonry

(0) Polygonal Masonry

(A) Wall plates

(B) Battens

(C) Ridge

(0) Cleat
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133. ~cfit~it, ~ ~ ~Cflr;qCfl~
3fln~~ if ~~r~RITt, Cfl~~1<11~ I

(A) ~~
(8) qfjfq!tl ~'tl

(C) ~~'tl

(0) ~ll~ll ~'tl

134. fu;fi~<fIcm:~~<n ~-RmuT ~1~rn~1
~~m Cfl~~ldl% I

(A) ~~
(8) 8l(I~G~
(C) ~cfit~

(O)~~

135. ~~q)T~~~~<n
~~31l'CW"(@T~~, _
Cf)~~ldl % I

(A) ~
(8) ~
(C) ~~'R:(

(0) ~

136. m q~:I':nRq:1

(A) 1I1~Fv0Cfl~ (l>JIrW

(8) ~ ~ ~ (1)JIf[I(\

(C) ~~ (1)JIf[I{1

(0) ~~ (I>JIM{1
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137. ~-mctt~~ 3fu:~~~<n"3(fGq

cfit"ffil~~~~mmt ~~it

~~~ Cfl~~ldl% I"'---

(A) ~

(8) cnWf

(C) ~

(0) ~~

138. ~~"ffilit~~~ SlR1:ai§~g:m~

"Q,Cfi~ CfiTuT<nTfG( Cfl~~ Id I % I

(A) fc;tT

(8) ~

(C) ~

(0) ~

139. ~~~~~~~<n~~cftcffi
~~~~~ 31TmitCfiT~

cn8~~~~~t _
Cfl~~ld ~ I

(A) qffi~

(8) ~

(C) ~

(0) ~
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140. Identify the image

It BRICK WALL

(A) English bond

(B) Flemish bond

(C) Herring bone bond

(0) Stretcher bond

141. Small scantlings which are nailed to the

rafters for laying tiles, over the sloped

roof are known as

(A) Verge

(B) Eave board

(C) Template

(0) Battens

142. The inclination of the sides of the roof

to the horizontal is termed as

(A) Rise of roof

(B) Pitch of roof

(C) Boarding

(0) Span

-30-
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143. Which is not a roof covering for pitched
roof?
(A) Thatch
(B) Tiles

(C) Asbestos- cement sheets
(0) Traps

144. Identify the type of staircase given in
the image.

(A) Folded plate staircase
(B) Spiral staircase
(C) Stringer beam staircase
(0) Waist slab staircase

145. Example for enlargement scales
(A) 1: 10
(B) 1: 500
(C) 1: 1
(0) 2: 1

146 Example for reduction scale
(A) 1: 10
(B) 10: 1
(C) 5' 1
(0) 2: 1



1111 11111111I111111111111111111111111111111 11111 11111 1111111I1111111 11111 1111 111111111111111 III

140. m qt\:cIlR~1

It BRICK WALL

(A) ~~cq

(8) cHfiI:t1 ~

(C) %WT~~
(0) ~~

141 . -m2: 4iC:k1ll ~~ oo1it;"3i1R~WTR
it;~mW1Rm~t ~ _
Cfit\(11d ~ I

(A) Cf\1f

(8) tcrmt
(C) ~

(0) ~

142. -oocfir ~'cnrf&1fa~1R~ _
Cfit\(1ldl t I

(A) £9(f CfiT"36fCf

(8) £9(f cfiT ~
(C) mwr
(0) #R
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143. ~ £9(f it;~ ~-m ~ £9(f 31TcRUT

~t?
(A) ~

(8) ~

(C) o:~*d~- mm ~
(0) ~

(A) lJit amt ¥T ~

(8) ~~R1d ~

(C) ~muft~
(0) ~~~

145. ~~CfiT 3<:;1t\(OIt
(A) 1: 10

(8) 1: 500

(C) 1: 1

(0) 2: 1

146. t:RR~~CfiT 3<:;1t\(OIt
(A) 1: 10

(8) 10: 1
(C) 5: 1

(0) 2: 1
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147. Representative fraction is calculated by 151. Which is not the type of conic section
using formula curve?

(A) Drawing size/Actual size

(8) Enlarge size/Reducing size

(C) Reducing size/Enlarge size

(D) Enlarge size/Drawing size

148. Identify A in the image.
-

, :

I ,--;.

1111,III/ fIn .
)@

I

(A) Parabola

(B) Hyperbola

(C) Ellipse

(D) Cylinder

152. Identify the type of arch in the image.

(A) Brick lintel

(B) Brick pier

(C) Brick abutment
(A) Semi-circular arch

(D) Brick buttress
(B) Segmental arch

149. Which is not a type of scale?
(C) Elliptical arch

(A) Plain scales

(B) Diagonal scales (D) Horse shoe arch

(C) Vernier scales
/

(D) Polygonal scales 153. Course of brickwork entirely composed

of headers are called as
150. 1 hectare is equal to

(A) Header course
(A) 50000 sq.m.

(B) 80000 sq.m. (B) Stretcher course

(C) 10000 sq.m. (C) Uncoursed

(D) 30000 sq.rn. (D) Plain course

~32-



SlrnPlm"RR en) ~ CfiT 151. ~-m~cmC@iCfiT~1tft?
)f(.!)rr ~ 1TURT~ ~ t I

(A) ~ 31TCfil\ j cm"<1Rl Cfl 31TCfil\

(B) ~ 31TCfil\ jCfilfi fcnm 31TCfil\

(C) Cfilfi fcnm 31TCfil\ j ~ 31TCfil\

(0) ~ 31TCfil\j ~ 31TCfil\

(A) ~~

(B) ~.
(A) 31d~'d ICflR 'qTq(C) ~ ik·jq III I

(0) ~CfiT~ (B) Wd'qTq

(C) c:nef~'dICflR 'qTq149. ~-m~CfiT~~t ?

(A)~~ (0) ~ ~ ~ if; 31TCfil\ ~ 'qTq
(B)~~
(C) crf.f<:R ~

153. ~:~-B~~~~
(O)~~

Cfl6C"l1eft t I

150. 1~~t (A) ~Sfiil
(A) 50000 sq.m.

(B) ~Sfiil
(B) 80000 sq.m.

(C) 10000 sq.m. (C) ~ SfiilCfiT

(0) 30000 sq.m. (0) ~Sfiil
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111111111111I11111111111111111111111111111111111111111111111I1111111111111111111111111I11111111

147.
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" 11111111111
I..

\~ I

:

I

I

M KG-XXVIfTECHCIAAl1 T/02

(A) q(ClC"l4

(B) 3'lmQ(ClC"l4

(C) ~

(0) ~
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154. A horizontal member of stone, brick,

wood, steel or RCC, used to support

the masonry or load above an opening
is called as

(A) Column

(B) Bracket

(C) Quoin

(0) Lintel

155. The depression on the top face of a
brick is known as

(A) Frog

(B) Bevel

(C) Jamb

(0) Sill

156. Identify the type of arch in the image.

-- " ..

~.
L-....~

,
\\\\\ \ \"lIT! / /,

\
,,'. I

\ I, I.. I.. !
\ ,, .'-, \ I, ,, I,

I

r '. ,
'»'
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157. A series of steps without any landing,
platform or break in their direction is
known as
(A) Scotia
(B) Newel
(C) Baluster
(0) Flight

158. The outer projecting edge of a tread is
known as
(A) Mortar
(B) Spandril
(C) Core rail
(0) Nosing

159. The under surface of a staircase is
known as
(A) Going of step
(B) Soffit
(C) Landing
(0) Winder

160. Identify the image.

(A) Ogee arch (A) Lap joint
(B) Trefoil arch (B) Tongue and groove joint
(C) Flat arch (C) Butt joint
(0) Florentine arch (0) Mortise and tenon joint

-34-



~~~~~<n ~cn1'BmU~ 157.

~~~~,~,~,~m
3'l1{Blm CfiT~ ~ ~ _

Cflt(1ldl % I

(A) ~

(8) ~

(C) ~~

(D) ~

1111111111111111111111111111111111111111111111111111111111111111111111111111I111111111111111111

154.

155. ~~~~~'R~ _

Cflt(1ldl % I

(A) m
(8) ~

(C) ~

(D) m

---};-L-Y- ".Lj

~\\\\\\III///, , ,
\ I

\ ,,
\ I

\
,I. .', ,, ,

, I

\ "..'

(A) 3Wft cqrq

(8) "ffiquf cqrq

(C) ~'q111

( D) CR."i1{2:I~"i -:qrq
-35-
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158.

~c€t . ~~~~. ~~
~, q82:q)T4m~~it _
Cflt(1lctl % I
(A) fCh;IRlll

(8) ~~
(C) ~

(D) ~

~~~~>rm~ __
Cflt(1ld ~ I

(A) meR
(8) ~
(C) ~~

(D) ~

159. ~'#.1Cfif ~Cfif ~ __ Cfit(11di~ I

(A) ~CfiT~

(8) -mFR
(C) ~

(D) ~

160.

(A) ~~

(8) ~3fRTRf~

(C) ~~

(D) ~-"@fm~
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161. The wooden, metal or masonry vertical
member supporting a handrail is
known as
(A) Plaster
(B) Pointing
(C) Baluster
(D) Distemper

162. Which is not a type of staircase?
(A) Dog-legged staircase
(B) Bifurcated staircase
(C) Circular staircase
(D) Waffle staircase

163. The slope of the stair should
(A) Never exceed 40 deg. and should

not be flatter than 25 deg.
(B) Never exceed 90 deg. and should

not be flatter than 60 deg.
(C) Never exceed 70 deg. and should

not be flatter than 55 deg.
(D) Never exceed 65 deg. and should

not be flatter than 5 deg.

164. Identify the image.

(A) Notching joint
(B) Cogged joint
(C) Dovetail joint
(D) Lap joint

-36-
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165. A platform or resting place provided
between two flights is known as
(A) Landing (B) Scotia
(C) Rebate (D) Pitch

166. Average value of the staircase width for
public building is
(A) 0.8 m (B) 0.1 m
(C) 0.3 m (D) 1.8 m

167. Minimum headroom should not be less
than
(A) 1 m
(B) 0.3 m
(C) 1.3 m
(D) 2.14 m

168. Identify the image.

~;...-:...-::::...-==~===-.-~

DD
DO
DO

EL!YAnON

(A) Panel door
(B) Flush door
(C) Battened door
(D) Ledge door
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161. "C!.Cfi~ c8~ ~ crrerr ~ CfiT,~ 165. ~~~~"C!.Cfi ~cq:;T4mWmrr ~

CfiTm~CfiT~~ CfltC'"lldlt I
CfltC'"lldI t I (A) ~ (8) f<:h"R'41
(A) t<1FR{ (C) ~ (D) ~
(8) cql~fbl

(C) ~C'"I'RX 166. ~:IIJ\jjRCfl ~~~cfiT~ CfiT~
(D) ~Rq{ lfR~

(A) 0.8 m (8) 0.1 m
162. cnt.T- m ~ CfiT"C!.Cfi~ ;ffif t ? (C) 0.3 m (D) 1.8 m

(A) ~-~~
(8)~~ 167. ~~ -B C81 ;ffif ~
(C) Cj'dICflR~ ~I

(D) ~~ (A) 1 m
(8) 0.3 m

~cfiT ~~m (C) 1.3 m
163. (D) 2.14 m

(A) 40"fu!fi ~ 31fucn ~ mt ~ 3fu:
25 "fu!fi~ C81 ;ffif mt ~ 168. m qt~:IIRq: I

(8) 90"fu!fi ~ 31fucn ~ mt ~ 3fu:
60"fu!fi ~ C81 ~ ~ ~

(C) 70"fu!fi ~ 31fucn ~ mt ~ 3fu: 0 055 "fu!fi~ C81 ;ffif mt ~
(D) 65"fu!fi ~ 31fucn ~ mt ~ 3fu:

5 "fu!fi -B C81 ~ ~ ~

0 0164. m qt=t:lIRq: I

~

0 0
El.£VAllON

(A) f.rnHr (~) ~ (A) ~ ~{C1I\jj1

(8) ~~ftf@d (Cfill:s) ~ (8) ~ ~{C1I\jj1

(C) ~C"i~Cfd ~{C1I\jjI(C) >SiSlC'"I'i'{~(~) ~
(D) ~~ (D) ~«1C1H ~{C1I\jj1

-37-
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169. Which one of the following does not
belong to pile foundation?

(A) Bearing piles
(B) Friction piles
(C) Sheet piles
(0) Raft piles

170. Which of these do not belong to window
types?
(A) Pivoted (B) Casement
(C) Sliding (0) Collapsible

171, Example for shallow foundation
(A) Pile foundation
(B) Raft foundation
(C) Cofferedams
(0) Caisson

172. Identify the image.
r -- - ----.- ...r-~r -'---

-,I, _, . -, ~. I

- - .. .J

, , ,
:

,
"I \

I ,
i

,
\

I I
, ,

I , \

I I
, ,, ,

f
,

I
!

,lt~ , ,
-- -.

-"-
-:\.-,..

~, - - - . ."
, ,
,, ...

I ,
I , ...
i :..•..r .. . - - .. _'>-1

\ \L _
,,

. - - ... _.1

ELf VATION

(A) Ledged door
(B) Ledged, braced and battened door
(C) Flush door
(0) Battened and flush door
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173. Icosahedron has
(A) 15 equilateral triangular faces
(B) 30 equilateral triangular faces
(C) 20 equilateral triangular faces
(0) 9 equilateral triangular faces

174. When the solids are cut such that their
cut surfaces are inclined to the base are
called as
(A) Truncatedsolids(B) Prism
(C) Cube (0) Pyramid

175. How many plane surfaces are present
in pentagonal prism?
(A) 5 (B) 6
(C) 7 (0) 8

176. Identify the image.

STILE

H-W-++- SOFT WOOD STRIPS OR
LAM'NA TED CORE
PIECES

A

C!IOSS BAND }
FACE VENEER
OR PLYWOOD

8OTTOMRAIl

ELEVATION

(A) Glazed door
(B) Battened door
(C) Flush door
(0) Ledged door
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169. R8Rif@d .q~~-m~~;ffq~~
~t?
(A) ~~
(8) ~ ~
(C) ~~
(0) ~ ~

170. R8Rif@d.q~~-mf@scfil~~~
~~t?
(A) ql~ci)lS (8) ~

(C) «'11$rnll (0) Ch1MMGlM

171. R9~M1;ffq CfiT3~16{OIt
(A) ~;ffq
(8) ~;ffq
(C) CfiTq:;{~q«-
(0) ~

172. mQ6:cIlRl!>I
r ----- -.-- - ..--
I r- - - --==:-1- - +- -~ - -.
· i' .•••- ,,- - _ . _ . J

I \ ,· .

, "-, "

I
,! '- \ .Ii'
I ! ' , \
I ' , \·I \ 'I . ,
f t " \t : - - - ~ - -\. ,,:~

I •

• - I-"I ••••••• ,_ ••. __ ~

ELf v"TION

(A) 9)f(1qH ~{ql>:i11
(8) 9j«1qH, ~ 3fR ~&i~ ~
(C) 'R.'m ~{ql>:i11

(0) ~6i~Cfd 3fu: 'R.'m~-.iIT
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173. fci~IRlq:;MCfi.q ~ t I

(A) 15~~~

(8) 30~~~

(C) 20~~~

(0) 9~~~

174. ~om 'CfiT ~~CfiRJ ~lfcn~cR:
~~ ~-q-{ 31cHCfm, it~ _
Cfi6Mldi I
(A) ~ 6TB (8) ~

(C) t:R (0) fq{lfGs

175. cj:qch)oft~ ~.q~~~~i?
(A) 5 (8) 6
(C) 7 (D) 8

STILE

1+Ho++- SOFT WOOD STRIPS OR
lAMINATED OORE
PIECESA

CROSS BAND }
FACE VENEER
OR PLYWOOD

(A) m~ 3'llq(OlqIMI ~{ql>:i11
(8) ~6i~Cfd ~{ql>:i11
(C) 'R.'m ~{q 1'511
(0) 9jfdqH ~{ql'51l
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177. How many triangular plane surfaces are 181. The highest central wedge shaped block
present in a square pyramid? of an arch is called as

(A) 6 (8) 10 (A) Pier (8) Spandril

(C) (D) 4
(C) Key stone (D) Haunch8

182. The clear horizontal distance between
178. Which one of the following does not the supports are known as

belong to flooring category ? (A) Span
(A) Marble (8) Mosaic (8) Haunch
(C) Granolithic (D) Dadoing (C) Voussoirs

(D) Extrados
179. The under surfaceof an arch is calledas

(A) Intrados (8) Abutment 183. Which of the following is not an arch?
(A) Semi-circular

(C) Crown (D) Springer
(8) Elliptical

180. Identify the image. (C) Segmented

(D) Chajja

rHOOOCOVEO -
l

I~~.:.t

...- •...
!

~...•
co .•••

\0-

re;>; ..,.,. = ~
L •......•

(A) Collapsible gate
(8) Glazed door
(C) Panelled door
(D) Rolling shutter

-40-

184. Identify the image.

SHUTTER

(A) Sliding window

(8) Pivoted window

(C) Casement window

(D) Sash window
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~crT fCt\I~:gitfcncR 8!Chlon~~~177.

~~?

(A) 6 (8) 10
(C) 8 (0) 4

RkiRiRsld it~~-mw~cm ~it178.

~ 731Tffi .

(8) q-.:qICflI{l(A) fj1llOlvH

(C) ~'iIRi~ (0) ~

'Q.Cfl~cnr~ ~ Cfl$i1ldl t I179.
. "' (8) ~c:iic:(A) ~?I-slfj

(C) ~ (O)_~

~ q$oqIRq: I180.

rt-tOODCOVE.~ ~F---· ..J,.
= srr

I &H- (LA

!

I~.•...
""""j..- OUI

OH

I•••• =r = .=
L ~KANOll

UTI'£ft
TltS£CTIOHS)

$ECTlOH-AA,

Sl.IDlHOaot.T

(A) ~ <:nffi ~\cll\ill

(8) ~ ~ 31TCRUT<:nffi ~\ct I\ill

(C) ~00(i1~Cf(1~\ct I\ill

(0) mwr~
-41-
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181. ~ 'qTtf C!1T~ iim ~ ~ 31TcfiT{

C!1Tm Cfl$i1ldl t I

(A) ~

(C) <tt~
(8) ~

(D) ~

182. ~~~~~~---
Cfl$i1ldl t I

(A) *r
(8) ~

(C) ~
"'

183. RJOOiRiRsldit~~-m~'qTtf-;@t?

(A) ~~*1ICflI\

(8) <fit:f ~*1ICfiI\

(C) ~

(0) ~

SHUTTER

(A) ~ cm:fT Rsl:gcfi1

(8) ~ Rsl:gcfi1

(C) 31TCIitf Rsl:gcfi1

(D) ~ Rsl:gcfi1
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185. Weightof 8 mm diameter steel reinforced
bar is
(A) 1.5 kg/m (B) 0.395 kg/m
(C) 3 kg/m (D) 0.15 kg/m

186. Full form of HYSD
(A) High Yield Strength Bars
(B) High Yield Solid Bars
(C) High Yield Diagonal Bars
(D) Heavy Deformed Bars

187. A sloping or horizontal structural
overhangusuallyprovidedoveropenings
on external walls for protection from sun
and rain is known as
(A) Lintel (B) Arch
(C) Chajja (D) Sill

188. Identify the image.
+ 1800

t
c>'",I,.'
~
I
I
!

+ " ee • '!O ~O.

:1 [(TIll ," 100

te:ll G '55•••
100

i rF== rt: p== TOI I ,.
i .•.
i

V,
OL

~
~-. ~ ."'-- I-- - IIDT
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(A) Casement window
(B) Glazed window
(C) Sliding window
(D) Hung window
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189. What does FAR stand for?
(A) Floor Area Ratio
(B) Floor Area Roof
(C) Floor Area Rating
(D) Floor And Roof

190. A course consisting of some appropriate
water proofing material provided to
prevent penetration of dampness or
moisture
(A) RCC
(C) ACC

(B) DPC
(D) PVC

191. A pipe which carries discharqe from
W.C. urinal or any other soil appliances
are known as
(A) soil pipe
(B) ventilation pipe
(C) rain water pipe
(D) exhaust pipe

192. Identify the image.

STRING COUR6E

WALL.

(A) Couple roof (B) Gable roof

(C) Lean to roof (D) Hip roof
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185. 8-m.m. cxnBmm~~CfiT'qRt
(A) 1.5 kg/m (8) 0.395 kg/m
(C) 3 kg/m (0) 0.15 kg/m

186. HYSO CfiTfcrnrn: ~ t
(A) ~~~~~
(8) ~~~~
(C) ~ ~ Slllln"i(1 ~

(0) %eft rnCflTli ~

187. ~3fR~-B~~~$;nU'CR~
~ ~ ~114IOMl1ct:fu<rr ~ C:fK1T ~ ~

"lIT~ ~ Cfl6(11d) t I

(A) ~ (8) -:qrq

(C) ~ (O)'~

188. ffi Q6'i:IIRQ\ I

tOO'''PlIlfAW50''t: \
TO" RA.It..
,. ') 71

SECTION.'" A

(A) 31lCfftf Rs scfi1
(8) m~ ~qrffi Rsscfi1
(C) ~qrffi Rsscfi1
(0) (1cCfldl Rsscfi1
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189. FAR~~31RITt?

(A) m~mm
(8) m~~
(C) m~tfm
(0) m~~

190. ~c8~-B~~~~3Q~Cffi
m~~31T~~

(A) RCC (8) OPC

(C) ACC (0) PVC

191. ~~~w.c.mtT"lITM~~
~-BcnWrB~t . Cfl6(1ldl t I

(A) "¥T~
(8) ~-crwr
(C) ~~-crwr
(0) ~-crwr

STRING COURS£.

(A) ~mr
(C) "0H~mr

(8) ~mr
(0) c.nRft mr



MKG-XXVlrrECHCIAAl1 T/02

193. Which one among this is not a drainage
trap?
(A) P-trap (B) S-trap
(C) Q-trap (D) W-trap

194. Pipe which supplying water to the tank
is termed as
(A) Outlet pipe
(B) Inlet pipe
(C) Over flow pipe
(D) Scour pipe

195. As small masonry chamber provided
for inspection, cleaning and repairs of
house drain known as
(A) Drain
(B) Sewage
(C) Inspection chamber
(D) Sewer

196. Identify the image.

(A) Ledged door
(B) Sliding door
(C) Swing door
(D) Hevolvinq door
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197. Following which is not a type of sanitary
fittings

(A) Wash basin

(B) Urinal

(C) Bath tub

(D) Sprinkler

198. The estimate prepared at the conceptual
stage of a project for the purpose of
obtainingfinancial approval is termed as

(A) Supplementary estimate

(B) Preliminary estimate

(C) Detail estimate

(D) Cubic rate estimate

199. Full form of the term CPWD in building
estimation

(A) Council of Plumbing Work
Department

(B) Centre for PrivateWork Department

(C) Central Public Works Department

(D) Core Plumbing Work with Drainage
system

200. Weight in kg/m of 20 mm diameter bar

(A) 5.88

(B) 3.76

(C) 2.46

(D) 0.05



1111 11m 11111111111111111111111111111111111111111111111111111111111111111111111111111111111111

193. ~B~-m~~;nfft?
(A) p-~ (8) s-~
(C) Q-~ (D) w-~

194. ic€t Cf1l '5kll'ifd Cfi8 ~ ~ __

Cfl6Mldi t I
(A) ~\:lWt
(8) 3WfCf)~

(C) 3'lrnSlql6 \:lWt
(D) q fVlI ;J'"i 11W1

195. -Rttarar, ~ 3fu: m c€t RCflI m<li c€t
~~ ~Hq\<OlITfm~~~§:31T
Cfla;f ct>6MId I t I .
(A) "'"iWft
(8) ~
(C) FmaJUT Cfla;f
(D) ~

196. m q6'€IIRQ\I

(A) ~t<1ql'i C;"ql>V11

(8) ~~ ~{ql'JIl
(C) "@"ID ~{ql'JIl

(D) ~ ~{ql'JIl

MKG-XXVIfTECHCIAAl1 T/02

197. R8rc1i19d ~ B ~-m fq-c'Jdl ~
;nfft ?
(A) cm-r~
(8) -rM
(C) ~~~

(D) W:rct>

198. ~ ~~CfiB~~"Q,Cfi qf{lIl'J1"i1

~ Ji Cflcrq"i kG Cfl -:q{Uf \R ~ fcflm §:31T

~ ct>6C1ldltl

(A) ~~.

(8) ;;rr~~
(C)~~

(D) tHt<:r ~ ~

199. ~~~CPWD"Cf)l~~t

(A) CflI:3mM 31fqj ~ ~ mq IbOle:

(8) W:~~~ mqlt~e:

(C) ~ Qfci8CflCfCRf mqlt~e:

(D) cnR~~m~fB-0:T

200. 20-m.lft. ~c€t~~fcnm/lft~ 'qR
(A) 5.88

(8) 3.76

(C) 2.46

(D) 0.05
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SPACE FOR ROUGH WORK

"{q;m~~WR
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SPACE FOR ROUGH WORK

~~*fFrtt~
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IMPORTANT INSTRUCTIONS TO CANDIDATES
3.4h~cu{i'*~~~~~i ~

13. This booklet contains 48 pages. 13. ~ ~ -ij 48 ~ ~I

14. Directions : Each question or incomplete 14. ~ : ~ m ;w.rcn ~ ~ ~ if; ~
statement is followed by four alternative "iffi ~ ;w.rcn ~ ~ ~ ~ ~ I ~ ~
suggested answers or completions. In each -ij ~ fcf;BT ~ ~ ~
case, you are required to select the one that ~ ~ C! m q;r~ ~
correctlyanswers the question or completes the ~ ;w.rcn ~ ~ "'i'P q;{ 3fu: ~ ~ ~ -ij
statement and blacken (e) appropriate circle ~ lrk11Cf)R ~ A, B, C <ITD ~ -;ft"ffi <ITCfm1T
A, B, C or D by Blue / Black Ball-Point Pen ~-"G'fR ~ ~ Cfm1T (e) ~ ~ I (<iRiiIiRrn
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding 3,¥fj Gcml if; ~ ~1'ffi 111~'R ~ ~
circle will be blackened by the scribe) q:m;rr~~)

15. Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

- ----.,
I
I
I
I
I
I
I
I____ .J

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (e) the circle of
the appropriate column, viz., A, B, Cor D. If
you blacken (e) more than one circle against
anyone question, the answer will be treated
as wrong.

17. In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as finaV
authentic.

18. Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

19. You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

15. ~ ~ ~ 00 ~ ~ cnTRI~i<&l ~ 31tR1

~m 1~~~~~~RI~if<fld~ I

RI~if<fld tfi.t cnT~ ~ ~ ~ ~ ~ I

~~~~
~~~~

~ ~ 3w.IT ~ UlI"llciCf) ~ ~ if;"3'CRRf

~~~I

16. ~mq;rm~~~~~ I ~
~ ~ ~ A, B, C <IT 0 if; lfk11Cf)1( ~

~ Cfm1T (e) q;vrr~ I ~ 3lfCf fcf;BT m ~ m
~ ~ ~ ln~ICf)R -&H ~ ~ (e) "ill3T(qCf;f

~ 'R1Cf l1RT ~ I

17. ~ fcf;BT m if; ~ om ~ ~ -ij ~

3TIR:~"ill~~~~~~~ I

18. ~"ChT<f~~mm~-ij~~~q;r
mq;{ I ~~~~"ChT<f;rq;{ I

19. ~~~~~~am~~~1
~~~~-ij-gT~1
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